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26. True or False:

(1) There exists a function f with continuous second partial derivatives such

that f, =z +y? and f, =z — ¢2.

(2) If f.(a,b) and f,(a,b) both exist, then f is differentiable at (a,b).
"—

—_—
(3) If f(x,y) is differentiable, then the rate of change of f at the point (a,b)

. . ; s . Iy}
in the direction of @ is V f(a,b) - y/ w
(4) If f.(a,b) =0 and f,(a,b) = 0, then f must have a local maximum or
minimum at (a,b).

(5) If f(z,y) is differentiable and f has a local minimum at (a,b), then

Dif(a,b) = 0 for any unit vector .
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